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1| Fukig | & KEAE QST | gk — 68 68 — | —
2 | & I Wl | R — 76 74 | — | —
3 | A | & Ll 2R QST | gk — 71 67 — | —
4 | fhERE | & IS ST | R — 62 | 70.7| — —
5 | b= | & (ks A | e — 80 | 70.3| — —
6 | RIS | & ks il | R — 78 | 72.3| — —
T | BEWE | & ELL v | R — 84 | 74.3] — | —
8 | Ly | & ks QAT | gk - 79 69 — | —
9 | AXE | & ks il | B — 72 |67.3| — —
10 | =¥ | & REAR T AT | B — 88 |69.3| — —
11 | WA | & KEFEARF | R — 85 [68.7| — | —
12 | %4 | & I A | g — 85 69 — | —
13 | iBEE | & | KELRAERSER | halmaii | A — 83 [69.3| — | —
14 | E12E | B ks A AU L — 73 |77 — —
15 | 3kKk%E | B = ARV | R — 74 166.7| — —
16 | W5 | 5B ELL ARV | e — 69 71 — —
17| £% | B HH AT | B — 87 | 72.7| — —
18 | iRfS | B ks AV | TR — 92 | 70.3| — —
19 | k%% | B ks ARV | TR — 76 71 — —
20 | R | Ao | REFERMELREER | RN | HK — 88 68 — | —
21 | BiKE [ B #lH b 3 T L% — 87 [69.7| — —
22 | Fa | & 2L 2R AR AT | B — 93 76 — —
23 | migk | B = R L I — 77 | 4.3 — —
24 | ZWR | B IS b 3 T LK — 64 | 70.7| — —
25 | FOAN | & KEFAFR ARV | R — 83 | 71.7| — —
26 | B 05 | & ELL ARV | e — 68 | 72.7| — —
27 | BFE | B | RECRAERER | pCRRIT | hgk — 9% | 74.7] — | —
28 | wkks | B ks AV | e — 81 73 — —
29 | HEN | B = PRI | gk — 67 |70.7| — | —
30 | oKk [ 5 WS L 2R AR AV | R — 85 76 — —
31 | ZBH/E | & = N | R — 70 75 — | —
32 | MEF | & | KpEpmErldk | hRERE | A% — 77 73 — | —
33 | BkE | & KEAE R L I — 91 [ 73.3| — | —
34 | | B | KFEERELERER | PRI | AR — 89 74 | — | —
35 | B | B KEFAFR R e — 87 73 — | —
36 | AP | 5 ELL ARV | R — 89 | 67.7| — —
37 | VAR | B ks T | R — 84 73 — | —
38 | AW | & ELL AV | TR — 92 | 71.3| — —
39 | ERE | & = ARV | TR — 94 | 65.7| — —
40 | BER | & ks AV | R — 77 69 — | —
41 | kP | & #lH AT | R — 83 [69.7| — —
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